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7.3-7.5 Similar Triangles Practice

In exercises 1 3 write a similarity statement for two triangles that are similar. Justlfy why each pair is

similar. M AG—;‘HP\NARHT
1. R AAEL’\R’\_ Z
, (IR W

¥ O’t(\ 5 A A Similan

(\(\\

2 % —

, —
4. ATAR~AMAC. 5.
mc= 10.5em
M X C
N »
2
R = =T
Me
AT
3 _ X 1.3 =4 X
a 1
X=10 .5
6. AABC~AEDC. 'o cm 2

CD = ;‘im rp=_ VB

AR - C
0 EC
ce
AC
(%)
(#9/2)
@5/ &\ (3 AB= 10CH

ALMK ~ANO

K

H 3,
N
K

A

AXYZ~AQRS.

QR= 4.%4co QS =

[N
XN

Y

19.5

ATRS~ATQP.
s=__|bem

30-}'\5"

x
A CA N
/17 R 30 ,5_— -
14 X+30

Z Q‘L—er-; ——i‘_“ 3

ApBe~AEDC
AR

] ;m'.\or\h,]

E

C‘.

D

rements are in centimeters. Determine the following measurements. Show all geometry
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7.3-7.5 Indirect Measurement with Similar Triangles

1. At a certain time of day, a 6 ft man casts a 4 ft 2. Ifa5ft 10in. person casts a 7 ft 4 in. shadow,
how tall is a person who, at the same time, casts a 6 ft

shadow. At the same time of day, how tall is a tree
that casts an 18 ft shadow? 8 in. shadow? Give your answer to the nearest inch.
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Sunrise Road is 42 miles long between the edge of Moon Lake and Lake Road and 15 miles long

4.

between Lake Road and Sunset Road. Lake Road is 29 miles long. Find the length of Moon Lake as indicated
by the dotted line.
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5. Martha is standing 4 ft behind a fence 6 ft 6 in. tall. When she looks over the fence, she can just see
the top edge of a building. She knows that the building is 32 ft 6 in. behind the fence. Her eyes are 5 ft from
the ground. How tall is the building? Give your answer to the nearest foot.
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6.  Youneedtoadda support under the ramp. How many and long should the supports be? (One is
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